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NEW
2016
Part-I 3-Tier
FINANCIAL ACCOUNTING & ACCOUNTING THEORY
PAPER—AH-1
{Honours in Accounting and F.inaance)
Full Marks : 100

Time : 4 Hours

The figures in the right-hand margin indicate full marks,
Candidates are required to give their answers in their

own words as far as practicable,

Mlustrate the answers wherever necessary.

Group A
{Financial Accounting)
[Marks : 72]

1. Answer any four questions : 4x4
(a) What is contra Entry ? Give two examples.
(b} Distinguish between Journal Proper and Proper

Journal.

(Turn Quer)



)

(¢} What is days of grace ? Calculate the maturity date
of a Bill of Exchange drawn on 29.11.2015 at 3

months.

(d) In an account Rs. 5000 was spent on repair to a
machine was debited to a Machinery A/c; What
should be the correct entry ? What is the name of
such type of error?

(e} Prepare a Pro-forma invoice with imaginary data.

() What is Independant Branch ? What is the utility of

opening ‘Branch Adjustment Account’?
(g) Mention two major defects of a Single Entry system.

(h} Give the journal entries that are used in Connection
with The Premium method of recording Goodwill at

the time of admission of a new partner.

2. Answer any four questions : 4% 8

(a) Prepare a Bank Reconciliation Statement as on
30.11.2015 from the following information of Mr. 8.
K. Ghosal :-

(i Balance as per Book on 30.11.15 (Dr.}) Rs.20,000,

(iiy on 5.10.15 Mr. Ghosal deposited a cheque for
coltection of Rs. 1000 and made entry in the Cash
Book which appears in the Pass Book on 30th Dec
2015 at Ks. 990.
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(ii) Cheque issued to parties but not presented for
payment till 30.11.15 are of Rs.525, Rs. 900 and
Rs. 82%.

(iv} Bank charges Rs. 90 {27.11.15) not entered in the
Cash Book.

(v) Cheque deposited on 30.11.15 but dishonored on
6.12.15 Rs. 945.

(b)  Write notes on 2y two of the following : 2wt
{i Cash Book is a Journalised ledger ;
{ii} Suspensc Account ;
{iiij Marshalling of Assets and Liabilities ;

(iv) Receipts and Payments Account.

(c) A and B were Partners in a Joint Venture sharing Profits
and Losses equally. A supplied goods to the value of
Rs. 25,000 and incurred expenses amounting to Rs.
2,000. B supplied goods to the value of Rs. 20,000 and
his expenses amounted to Rs. 200. B sold the entire
goods at Rs. 60,000. B was entitled to a commission of
5% on sales. B settled his accounts by Bank draft. Show
journal entries in the books of B.

(d) From the following transactions of Mr. Arnab,
prepare an Analytical Petty Cash Book kept under
Imprest System :-
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2015 Rs.
Jan. 1. Received cheque from chiel cashier 2,000
Paid taxi fare 155
2. Paid Stationary 110
Paid for Printing Letter heads 150
3. Purchase of Ink & Paper - 95
4, Paid for postage & stamps 75
3. Paid, Coolie charges k5o
6. Paid for Tea to office stalf. 187
7. Paid for Tiffin Charges 123

Balance the book on 7th January and show reimbursement

on 8th January.

(e) Distinguish between any two of the following :
(i) Joint venture and consignment.
(i) Renewal of Bills and Dishonour of Bills.
(iii) Reserve Capital and Capital Reserve.
(iv) Statement of Affairs in Single Entry system and
Balance Sheet in Double Entry system.

(ff On 1.1.15 Roy & Co. Ltd. Purchased a plant from Sen
& Co. on the Hire purchase system. At the time of
agreement a sum of Rs. 24,000 was paid out of the
cash down price of the plant and the balance would

be payable in 3 equal annual instalments together
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with interest i 5% p.a. The amount of each
instalment including interest was Rs. 33,600.
Depreciation was to be provided at 10% p.a. on
reducing balances. Prepare the (i) plant A/c and Sen
& Co. A/C in the books of Roy & Co.

(g) Define depreciation. Is depreciation an ‘expense’ or

‘provision’ as both ? Discuss with reason.

(h) On 30.4.2015 a fire occurred in the goedown of KKG
Ltd. and most of its stock was destroyed. The stock
book was burn but from the records saved the

following details were available :
Rs.

Stock on 1.1.15 ' ' 96,000
Purchases less returns from 1.1.15 to 30.4.15 4,08,000
Sales less returns from 1.1.15 to 30.4.15 4.64,000
Average gross profit for the last four years was 30% on sales.

A part of the stock salvaged was sold for Rs. 60,000 and
the balance left was valued at Rs. 17,200.

Find out the amount of claim to be lodged with the

insurance company.

3. Answer any two questions : 2x12

(a) A, B and C are in partnership sharing Profits and
Losses in the ratio of 3:2:1. They decided to dissolve
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the firm on 31.12.2015 on the basis of the fol'awing

Balance Sheet :

Rs. Rs.

Capital Ajcs . Goodwill 20,000
A 60,000 Land & Building 60,000
B 60.000 Plant & Machinery 80,000

C 40,000 Sundry Debtors 52,000

T 1,60,000 Less : Provision fee

Resernve Fund 36,000 tor Bad debis 3.200 46,800
Bills Pavable 14,000 Stock 21,200
Creditors 30,000 Cash at Bank 12,000
240,000 ©2,40,000

3sets were realised as follows :

Goodwill Rs. 10,000, Land & Buildings Rs. 90,000, Plant
& Machinery Rs. 72,000, Sundry Debtors Rs. 46,000
Stock Rs. 22,000, Sundry Creditors allowed 10% discount

and Realisation expenses amounted to Rs. 600,

Prepare Realisation A/C, Bank A/C, and Capital A/C to
close the books of the firm.

(b) State the difference between the net Profit of a Profit
Seeking concern and excess of income over
expenditure of a non-Profit Seeking Concern. Also
indicate the steps you would take to convert a
Receipts & Payments Account into an income and

expenditure Account.
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{c) Write notes on any three of the following :
(i) Cash Basis and Accrual Basis of Accounting :
(ii) Accounting Cycle (iii) Average clause {iv} Books of

original Entry.

(d) From the following Particulars given by M/S Tins and
Toys, Prepare a Departmental Trading and Profit &
Loss A/C for two departments, viz, Tins Department

and Toys Department for the year ended 31.3.2015 :

Ks.
Opening Stock—
Toys 2,000
Tins , 15,000
Raw Materials Consumed (Tins) 36,000
Wages :
Tins 6,000
Toys 3,000
Advertisement 1,500
Packing expenses (Toys) 600
Office expenses 4,800
Depreciation :
Factory equipment 3,200
Buildings 1,600
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Sales :
Tins 90,000
Toys 18,000
Closing Stocks
Toys 6,000
Tins 12,000

Other Information :

{aj Toys are made bv the use of Raw materials of Tins

department. The value of Raw materials used by Toys
department was Rs. 2,000.

{b) Toy making does not require any equipment.

{c) Only Y of the total arca of building is occupied by

Toys depariment.

C/16/B.Com./Part-I{AH]/3T(N}/AH-1 (Continued)



Group B
[Accounting Theory]
(Marks : 18)

4. Answer any three questions : Ix6

(a) State the difference between Accounting Theory and

Accounting Practices.

(b} State at least Three approaches to the formulation of

Accounting Theory.

(c} Distinguish between Single entry and Double entry

system of Accounting.
(d) What is Accounting Equation ? State its implication.

e} What do you mean by Proprietory Concept and

Realisation Concept ?
() Why Income is measured ? Distinguish between

Economic Concept and Accounting Concept of Income.

{Internal assessment — 10 marks ]
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2015 Rs.
Jan. 1. Received cheque from chief cashier 2,000
Paid taxi fare 155

2. Paid Stationary 110

Paid for Printing Letter heads 150

3. Purchase of Ink & Paper 95

4. Paid for postage & stamps U

5. Paid Coolie charges 155

¢ Paid tfor Tea to office siail 187

o Hid for Tiffen Chargc‘% 125
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A part of the stock salvaged was sold for Ks. 60,000 and
the balance left was valued at Rs. 17,200.
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Rs. Ks.
Capital Afcs
R~ Gnodwill . 20.000
’ A 60,000 Land & Building 60,000
B 60,000 Plant & Machinery 80,000
C 40,000 Fundry Debtors 52,000
1,60,000 Less Provision fee
Reserve Fund 36,000 for Bad debts 35,200 46,800
Bills Payable 14,000 Stock 21,200
Creditors 30,000 Cash at Bank 12,000
12,40,000 2,40,000
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Rs.
Opening Stock—
Toys 5,000
Tens 15,000
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Raw Materials Consumed (Tins) 36,00
Ways :
~ Tins 6,00(
Toys 3,00C
Advertisment 1,500
Packing expences (Toys) 600
Office expenses 4,800
Depreciation :
Factory equipment 3,200
Buildings 1,600
Sales :
Tins 90,000
Toys 18,000
Closing Stocks :
Toys 6,000
Tins 12,000
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